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Exercise [rank 4+4+6] Given the set of strings S={bar, basr, box, cab, cat, dog} construct:

· The ternary search trie (TST)

· The last column of the Compressed permuterm index.
· Show how the string b*r is searched in both data structures. 
Exercise [rank 4+4] Given the sequence S = (1, 3, 4, 5, 9, 16, 23, 27, 28, 31, 40), show the Elias-Fano encoding of S, and comment on the execution of S[6](16.

Exercise
Students that did project #1 (edit distance 1) should address the following two additional exercises [rank 4+4]:

· Prove that the min-wise hashing technique estimates the Jaccard coefficient

· Let us given the two sets A={1,2,3,4,5} and B={2,4,6,7} drawn from the universe {0, 1, …, 10}, simulate the computation of Jaccard(A,B) via min-wise hashing by using the following two permutations p1(x) = 3x+1 mod 11, p2(x) = 5x mod 11
Students that did project #2 (compression) should address the following two additional exercises [rank 5+3]:

· Construct the DFUDS encoding of the TST above.  

· Show how to compute the first child of node u.

